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yield_bpm4aY_mean vs run
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yield_bpm4ecY_mean vs run

X2 [ ndf

0.09

0.08

0.07

0.06

0.05

0.04

0.03

0.02

0.01

p0

7.334e+05/ 80
0.03936 + 1.139e-05

200

150

100

pull

[ Entries
Mean
Std Dev

81
457.7
423.7

pulllD
1 —
Entries 81
- Mean 1.866
Std Dev  2.73
0.8
0.6
0.4
0.2
0 III|III|III|III|III|III| II|III
-8 -6 -4 -2 0 2 4 6 8




yield_bpmd4ecY_rms vs run

0.07F ¥ [ ndf 9.372e+04 / 80
T E PO 0.009688 + 8.056e—06
0.06
B ®
0.05—
0.04—
B °
0.03— o
B °
0.02—
- . R . .
0 01_—. «*’ o o * 00 e’ %0 o ° o 0004, .00.0‘00'
9 0 g 000 0 00gg 556 T ;T g4 T g0 00 0% o ©

O HAO TRt LGN ORENO bcrfwn <A TRRED @TN OO~ O HIR LINO "o oo aoo N oo cohm <ot

c b b b bbb el Bob b

0
[{cTe (cTo)
«@aao

BpeY
a]a]e)
666
6AA8

GBG_Q




15

0.5

-0.5

-1.5

3000
2000

1000

-1000
-2000

-3000

yield_bpm1X_mean vs run

IIIIPIbIIl

TN <ERAO TR LRSS 0RO NS 600 <HUID TRREN WS 0RO~ SRR LD “HS ! aas ! ano N oxsS ™ oot o

X2 I ndf 1.036e+08 / 80
- pO 0.2201+ 7.757e-05
| ."
N ° SNy
- [ }
8 o
C L °

pull

= Entries
al Mean
Std Dev

81
-41.67
85.2

0.8

0.6

0.4

0.2

pulllD

Entries

Mean

Std Dev

81

0

-8

-6

-4

-2

0

2

4

6

8




0.4

0.35

0.3

0.25

0.2

0.15

0.1

0.05

yield_bpm1X_ rms vs run

— X? I ndf 4.73e+05 / 80
E . PO 0.05666 + 5.485e—05
- PY L]

N °

I °

S :

~ °

- . .. o

:0_ ® o o * *

— PY ..O ([ [ J PY

— e ® ° °

e o Y )

I ° °

L Y °

- °

. ) e« * o % oo o ® *

— ® e o - o

— o ° o oo ® %e® °° ¢%ge

WWWMWWWWMWMMWWMWWM

M—c;.
o)
3

© NN oBAAD
[« [{« (‘l( le}
«xmo @ @aao
«Q «Qaao

GBG_Q

OO
ﬁ F\F\'\
0aQ0 QqC
('f'\‘(

b Bob s




yield_bpm1lY_mean vs run
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